2022

Leaders & Legacy Builders Sanctuary Cap Cana & Punta Espada Golf Club Punta Cana, Dominican Republic

The Leaders & Legacy Builders Weekend was birthed and developed from recognizing the importance of celebrating life's milestones, dreaming without limits, networking with others, exercising the power in learning, and paying-it-all-forward. This year's itinerary will include our Leaders & Legacy Builders Golf Clinic Event, Brunch and Networking Reception. Each event will focus on discovering and leading the impact our dreams have on our lives as *Leaders of Our Legacy*.

Our location hosts this year will be the **Sanctuary Cap Cana Resort** https://sanctuarycapcana.com/ an all-inclusive adult luxury resort in Cap Cana, a private, gated community retreat inside Punta Cana. Cap Cana is made up of 30,000 acres of flawless beaches, and oceanfront valley roads. In addition, our second host for this experience will be the **Punta Espada Golf Club** https://www.puntaespadagolf.com/ which is considered to be the best golf course in the Caribbean and Mexico, all on the beautiful island of the Dominican Republic.

Paying It Forward A portion of the proceeds from our Leaders & Legacy Builders Golf Clinic Event, Brunch and sponsorships will go toward supporting TSI Care INC 501(c)3 charitable organization.

TSI Care INC- is an organization dedicated to raising funds and awareness for underfunded causes. Its vision is that people everywhere will share the power of Caring on Purpose. So, their mission is to inspire lifelong intentional caring by giving and strengthen our communities. In 2020, they launched Children Against Racism and the Return Home Safe VET for veterans They believe intentional caring through donating time and resources in support of real causes provide opportunity and change that take root. <u>https://tsicare.org/</u>

Join Us! Together with our champion host Ruby Red Travel we have designed an exciting experience loaded with purpose, turquoise waters, and white sandy beaches. We will spend 5 days/4 nights from Thursday, August 18, 2022, through Sunday, August 21, 2022, on one of the most beautiful vacation spots in the world. For more details on the event see our *"Let's Get Started"* packet and to secure your reservations contact Ruby Red Travel (862) 231-2701 <u>Theresa@rubyredtravel.com</u>

Virtual Access-It's The Replay! We encourage you to register for a remote front seat with our virtual access option. It's the Replay, will be a 60-minute pre-recorded showing of each day's events and highlights from our sponsors. This access will be distributed via YouTube and your contribution will be \$50 per person. Remember a portion of all registrations will go to support TSI Care INC. See attached form for registration.

Businesses, Organizations, Entrepreneurial & Sponsorship Opportunities The Leaders & Legacy Builders Weekend has numerous opportunities to engage, benefit, support and enjoy all this event has to offer. Throughout the next couple of pages, you will discover a diverse list of ways to contribute. You may even decide to meet us in Punta Cana!

Silent Auction During our Leaders & Legacy Builders Brunch we will hold a silent auction in which a portion of the proceeds will go to support the efforts of TSI Care INC 501(c)3 charitable organization. This is a good opportunity for contributors to have an extended presence at the event and beyond with our supporters. Please consider supporting our silent auction with donations of items, services and/or your sponsorships. See attached form to sign-up.

Event Program Ads Looking to share your businesses, organizations and/or special moments at our event? Well, here is your opportunity to support the Leaders & Legacy Builders Weekend and place an advertisement in our event program. The reach of all programs will go to each in-person & virtual access attendees along with sponsors. Please consider supporting our event by taking out a full, ³/₄, ¹/₂ and ¹/₄ page advertising. Contributions range from \$50-\$125 per advertisement. See attached form.

Swag (goodie) Bag Everyone loves to bring home a goodie bag from a conference, seminar, fair or fun event. The Leaders & Legacy Builders Weekend will not disappoint. We will send all our in-person & virtual attendees' home with a *Swag Bag* loaded with supporter's branded products, business cards, flyers, and postcards. In addition, there will be memorable treats from this years' experience. Please consider adding your Swag to our bags. Contributions are \$50 per supporter/business.

2022

Leaders & Legacy Builders

Sanctuary Cap Cana & Punta Espada Golf Club Punta Cana, Dominican Republic

Leaders & Legacy Builders Platinum Event Sponsor

\$8,000 (2 available at \$4,000)

- Two Foursomes (One Foursome for Co-Sponsor)
- Eight reserved seats at Leaders & Legacy Builders Brunch (Four reserved seats for Co-Sponsor)
- Full page advertisement in the event program
- Company name (or individual) and logo on event media backdrop, Swag (Goodie) Bag and one promotional item provided by event Host
- Branded item or product included in Swag (goodie) Bag
- Premium signage with logo at both golf and brunch welcome center
- Mention on Host website and social media with company link as the Platinum Event Sponsor
- Speaking opportunity during golf, brunch, and reception events
- Opening and closing credits mention in "It's the Replay"-Virtual Access as the Platinum Event Sponsor

Leaders & Legacy Builders Media-Graphic Sponsor

\$1,500 (3 available at \$500)

- Company name (or individual) and logo on event media backdrop provided by event Host (Full Sponsorship Only)
- Company Name (or individual) and logo on event program as Media-Graphic Sponsor
- Company logo on promotional flyers
- Mention on Host website and social media with company link as Media-Graphic Sponsor
- Branded item or product included in Swag (goodie) Bag

Leaders & Legacy Builders Virtual Access- "It's The Replay" Sponsor

\$1,000 (4 available at \$250)

- Opening and closing credits with Company Name (or individual) and logo as a Virtual Access Sponsor
- Company Name (or individual) and logo on event program as a Virtual Access Sponsor
- Mention on Host website and social media with company link as Virtual Access Sponsor
- Branded item or product included in Swag (goodie) Bag

Leaders & Legacy Builders Advertisement Event Program Sponsor

\$500 (2 available at \$250)

- Company Name (or individual) and logo in event program as "Event Program Sponsor"
- Mention on Host website and social media with company link as Event Program Sponsor
- Quarter ¼ page Ad for event program
- Event programs will be distributed to all in-person/virtual attendees, and sponsors
- Branded item or product included in Swag (goodie) Bag

Leaders & Legacy Builders Silent Auction Sponsor

\$500 (2 available at \$250)

- Company name (or individual) and logo in event program as Silent Auction Sponsor
- Mention on Host website and social media as Silent Auction Sponsor
- Premium signage with logo in Silent Auction Area of event
- Branded item or product included in Swag (goodie) Bag

Leaders & Legacy Builders Swag (goodie) Bag Sponsor

\$500 (2 available at \$250)

- Company name (or individual) and logo on Swag (goodie) Bag
- Mention on Host website and social media with link as Swag (goodie) Bag Sponsor
- Mention in event program as Swag (goodie) Bag Sponsor
- Branded item or product included in Swag (goodie) Bag

Leaders & Legacy Builders Diamond Golf Event Sponsor

\$3,000 (6 available at \$500)

- One Foursome
- Four reserved seats at Leaders & Legacy Builders Brunch
- Half ¹/₂ page advertisement in the event program
- Company name (or individual) and logo on event media backdrop along with one promotional item provided by
 event Host
- Premium signage with logo at golf event welcome center
- Mention on Host website and social media with company link as Diamond Golf Event Sponsor
- Speaking opportunity during golf events as Diamond Golf Event Sponsor
- Opening and closing credits mention in "It's the Replay"-Virtual Access as the Diamond Golf Event Sponsor
- Branded item or product included in Swag (goodie) Bag

Leaders & Legacy Builders Golf & Brunch Welcome Center Sponsor

\$750 (3 available at \$250)

- Company name (or individual) in event program as Welcome Center Sponsor
- Premium signage with logo at golf & brunch Welcome Center Sponsor
- Mention on Host website and social media with company link as Welcome Center Sponsor
- Branded item or product included in Swag (goodie) Bag

Leaders & Legacy Builders Golf Clinic Sponsor

\$1000 (4 available at \$250)

- Company Name (or individual) and logo on golf course in the practice area
- Quarter ¼ page advertisement in the event program
- Company name (or individual) in event program as Golf Clinic Sponsor
- · Mention on Host website and social media with company link as Golf Clinic Sponsor
- Branded item or product included in Swag (goodie) Bag

Leaders & Legacy Builders Golf Club Sponsor

\$500 (2 available at \$250)

- Company Name (or individual) and logo on each golf club bag
- Company name (or individual) in event program as Golf Club Sponsor
- Mention on Host website and social media with company link as Golf Club Sponsor
- Branded item or product included in Swag (goodie) Bag

Leaders & Legacy Builders Golf Hole Sponsor

\$1,200 (9 available at \$125)

- Company name (or individual) and logo at each hole on the green or at the tee box.
- Quarter ¹/₄ page advertisement in the event program for (Full Sponsorship Only) at \$1,200
- Company Name (or individual) in event program as Golf Hole Sponsor
- Mention on Host website and social media with company link as Golf Hole Sponsor
- Branded item or product included in Swag (goodie) Bag

Leaders & Legacy Builders Brunch Sponsor

\$1,000 (2 available at \$500)

- Two reserved seats at Leaders & Legacy Builders Brunch
- Half ½ page advertisement in the event program
- Company Name (or individual) in event program as Brunch Sponsor
- Premium signage with logo at brunch welcome center for (Full Sponsorship Only) at \$1,000
- Mention on Host website and social media with company link as Brunch Sponsor
- Branded item or product included in Swag (goodie) Bag

Leaders & Legacy Builders Brunch Keynote Leader Sponsor

\$800 (4 available at \$200)

- Acknowledge sponsor as presenter of Keynote Leader Sponsor
- Company Name (or individual) and logo in the event program as Keynote Leader Sponsor
- Mention on Host website and social media with company link as Keynote Leader Sponsor
- Branded item or product included in Swag (goodie) Bag

Leaders & Legacy Builders Brunch Spotlight Leader Sponsor

\$800 (4 available at \$200)

- Acknowledge sponsor as presenter of Spotlight Leader Sponsor
- Company Name (or individual) and logo in the event program as Spotlight Leader Sponsor
- · Mention on Host website and social media with company link as Spotlight Leader Sponsor
- Branded item or product included in Swag (goodie) Bag

Leaders & Legacy Builders Champion Community Award Sponsor

\$500 (4 available at \$125)

- Company Name (or individual) in the event program as Champion Community Award Sponsor
- Mention on Host website and social media with company link as Champion Community Award Sponsor
- Branded item or product included in Swag (goodie) Bag

Ruby Red Reception Night Sponsor

\$500 (4 available at \$250)

- Company Name (or individual) in the event program as Reception Night Sponsor
- Mention on Host website and social media with company link as Reception Night Sponsor
- Branded item or product included in Swag (goodie) Bag